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22.  Which of the following Sultan HPP“'"I:E'?J St e s Aol |
ar [
special army to protect the boundaries o1 Lh 57
empire? (a) Wﬁﬂ
(a) Ttutmish ; (b) T eI e
(b) Nasiruddin Mahmu (c) doid =
(c) Balban (d) JFeTIE fegetl gy
(d) Alauddin Khilji . 23, ol AETE BT fergert @met 1 3 L CRR
23. The last Subedar of Bengal, who was - o0
appointed by !.':ughlalll;‘;mpﬂﬂf‘ (a) Hffe ol &l
! i Khan TS
'E‘t” ;"”F‘h‘ Ell:ﬂ.n (b) e
(b) .jl'l.l.r.!.z : | © ot qEE 6
(¢)  Shuja-ud-Din Muhammad Khan : g o
svardi K ) et
(d) Alivardi Khan (d} o
hic : i historical 24, SRRy @ Prefefa e e we
24. In which of the following histonc : ot A ¥
melas/fairs of Uttar Pradesh both Hindu and fég 3y AR :
]'k"!u:alin:'um:'c'?d_ or (@) e @ i
(a) Nauchand ? ®) et 1 el
(h) Bavaro Baba Mela
(¢) WeiSId &1 Hell
(c) Fuldol Mela i\ o
(d) Bateshwar Mela (d) ¥eTR & : :
25. Who led the ‘Banaras Rebellion’ against the 25. 3w @ fawg ‘o fAxE @1 =g (B
Britishers? feRer 2n?
(a) Shujauddaullah (a) m]
(b) Asaf-ud-Daulah (b) FEHIE
{c) an_a Chet Singh _ () woT a fiE
(d) Raja Maheep Narayan Singh (@) R - Riz
26. Which of the following is not comrectly 26, MFifoRan & & #15 Hal ﬁﬁrﬁ‘.ya 2f 22
matched?
Early Medieval ~ Present Status QTSN SR ada Rt
Cities of Uttar
Pradesh T T ALY
(a) Koil - Aligarh (a) @A/ Bge — e
(b) ?:.ahms:w - Mahoba (b) TEWET TR -
agar b
(c) Mahoday Shree - Kannauj (c) ez =i —  WArare
. (d) Jaijukbhukii - Kaushambi (d) Siomw A —  Frem
+ How many Mahajanapadas were located in 27, @ :
. g "
present day of Uttar Pradesh among the oldest & ‘\g&;r_: A B W WS
sixteen Mahajanapadas of India? TRITYR el 1o wererge Rer @
(a) 06
hy 07 (a) 06
ch DR (h)y 07
d) (c) 08
d
IRRST-01.A) i) 09
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aTis :
D aontt ALMELs P % | B A/9
32. With reference to the temple of Bhitargaon, 5 PrefRad ForAl & 9 Gt
¢ hi f the ' ?
Kanpur, Uttar Pradesh, which © ae &/ o 54 )
anpy - -L ) = qﬁﬁ' = 5 :Eﬁ 'ﬂ'cﬁ' % &
following statement/s is/are correct: (h "
(1) This temple was constructed during D £ @ A4 g
5 century A.D. to 6" century A.D. (2) E.FE:T £ fafifa a8 W @ i
(2) 1t is one of the oldest brick temples Hf2i 4 | Uh gl
of India. . ﬁmwﬁmmaﬂiﬁﬂﬁ G|
Select the correct answer using the code given - 7T —
below — T —
Code -
. 7 (a) ad |
{a) Only (b) : 2
(b) Only2 ; et
(¢) Bothland?2 (c) | 2
(d) Neither 1 nor 2 d = fﬁ_| A1 & 2 o
33.  Ina Sitar, which type of sound vibrations are 33, U@ Rar ¥, fFy veR @ @ @ 99
produced? Bl & e e
(a) Progressive and Longitudinal (8) Q'a
(b) Progressive and Transverse (b) W U iRl
(c) Stationary and Longitudinal (e) 3T UA SR -
(d) Stationary and Transverse (d) WA UG arEwer
3. How two identical bulbs should be connected  34. =7 U 19 909 @) 38 THR SIS U SRS
to get maximum light? e fAerf?
(1) Both are connected in series (1) =1 &0 e ¥ oS & ~
(Z) Both are connected in parallel (2) SFi FAR F=H H ﬂ_@' &t
Select the correct answer using the code given f9 for g HE FH AN dvas Her I @
below - H ﬂ'ﬁﬁ'ﬁ -
Code - e —
(a) Incase (1) more (@ (¥ =
(b) In case (2) more ()  2)H arfers
(¢) Same in both (1) and (2) © (1R 2) 2 ¥ sy
(d) Nothing can be said (d) T Fwr T8 o Haer
35, The silk produced by spiders is called - 35, wlEE) g et X FEETr & -
()  Tussar silk
{b) Gossamer silk {:l Wﬁ W -
(€)  Munga silk (b) X
(@)  Ahimsa silk (©) ¥ Yo
et (d) arfewy e
IRRST-01-4) T — =

gaﬂﬁﬂﬁiﬂa’\”ﬁﬁﬂﬁ?%w
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%. Which of the following

pair/s is/are correctl
matched? 4
(1) Beet - Sugar
(2) Homey - Glucose and Fructose
(3) Cotton - Cellulose
(4 Milk - Lactose
Select the correct answer using the code given
below -
Code -

(a)  Only (1), (2) and (3)
(b) Only (2), (3) and (4)
(c)  Only (1), (2) and (4)
(d) (1), (), (3) and (4)

37 Which of the following is correct sequence of

ecosystem  in  order of decreasing

productivity?

(a) Ocean, Lakes, Grasslands and
Mangroves

(b)  Mangroves, Oceans. Grasslands and
Lakes

(¢) Mangroves, Grasslands, Lakes and
Oceans

(d) Oceans, Mangroves, Lakes and
Grasslands

38. Which of the following relation is not

correct?

(a) 1 Byte = 8 Bits

(b) 1 Kilobyte = 1024 Bytes

(¢) 1 Gigabyte = 1024 Kilobytes

(d) 1 Terabyie = 1024 Gigabytes
Which of the following statement is not
correct?

(a) Human ear becomes most sensitive
at 1000 Hz.

Human eye becomes most sensitive
for red colour.

) Persistence of heanng is

second.

(d) Persistence of vision is 1/16 second.
How is liver affected on fasting for more than
10 days?

{a)

(b) Glucose level in liver increases

(€) In liver triglycerides decrease

(d) In liver triglycerides increase

i

(b)

1710

Glucose level in liver diminished

38.

ﬁ.

Eq
FUH

@ Fu -
A Ry T He @
T BTy —

e

(a) @aet (1), (2) q=1 (3) -
(b) ®ae (2), (3) qUT (4)
(c) (1), (2) 7711 (4)
(d) (1), (2), (3) 72T (4)

ﬂ?ﬁ_@ﬂﬁﬁﬁn.ﬂ?ﬂ?ﬂﬁaﬁmﬁﬁmm
mReH Hn w27

(a)

Eﬁ?ﬁ?'ﬂ@%ﬁzm

37,

(b) T, AAR, N BT He Y 3o
(¢) g = &1 #5M, e ok A
(d) WrR, #ua e &t G B dem

Frefeiflas 4 o1 w1 day w721 &2

(a) 1 @Ee =8 faey .

(b) 1 fheiige = 1024 arsew -
(0 17rmETse = 1024 foearEews
(d) | 2v@EEe = 1024 frmEey

39. Freifefad § S Tem Wl 18 22

(@) AW B TE 1000 89 = [ag

HATE BT 2|

(b) TIE B 3 e T B v waw
e Ul 2rf &

() T N FEA 1/10 Vs exft &)

@) 3t & gam 116 vove e &)

40. =W RN I 9w e o wvar v w

oy U T YHE gsa &7
() %ﬂ?ﬁ*ﬁﬁ?ﬁmm_ﬂtﬂmﬁ
(b) ﬁ"ﬁ?#wﬂﬁwmwﬁwﬂme

(€) fc‘-lﬂ?#mﬁa'ﬁ?rmne#ma

(RRST. 0181
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1 41 Sare TN Han
41, The second most important source after f_ns.sll m&ﬂﬂfﬁﬁﬁ @l '1% ® fo
fuels contributing to Indian energy need is - HETAqo! wid & —
(a) Hydropower energy (a) widiEEd HuIl <
(b) Wind energy (b) 94 :
(¢) Nuclear energy () 4
: % (d) e S
(d) Solar energy 42. -1 Cal i || ¥ wfera ST e
42, Match list-1 with list-1I :Imcl select the correct . L A i e W SR P
answer using the code given below - iR — x
- A 11
ListI List-1 | Ed)r—aﬁﬁ: (’a‘gﬂ‘rrﬂi_._ﬁﬁﬁ 72
(Minerals) (Industries in (ST M g g
which largely HI Hx SU
used) '*Wmm T &)
_ T Oe2f¥ Ij =
(A) Limestone (1) Cement (A) =1 ] (
(B) Copper (2) Electrical B) @I (dian)  (2) fAsre il
goods i
(C) Bauxite (3) Aeroplane (C) dlawmge (3) mﬁi i
Manufacturing 5
(D) Manganese {4) Steel . (D) #HrN (4) %
Code - RE =
A B C D A B C D
(@ 1 2 3 4 (a) 1 2 3 i
(h) 2 3 1 4 (b) 2 3 1 4
€ 4 3 2 1 (c) 4 3 2 |
d) 3 4 ! 2 d 3 4 1 2
43.  Water pollution of river is measured by - 43. SRl BT ST HEHOT AT W6 8 —
(a)  Amount of Chlorine dissolved in (a) wicd 9 geft FRT # =551 9
water
(b) Amount Of Ozone dissolved in (b) S H geft 3 #1 FJEm @
water
(c) ﬂn:uunt of Nitrogen dissolved in (c) we H Hell AT &) 7= 9
‘ater
(d) Amount of Oxygen dissolved in (d) S H et sifaefior 3 amn & -
water
44, Th|LI chief source of Hydrogen Sulphide 44, EESIS Homes HQE®h & = Hig & —
pollutant 1s -
(a) Decaying vegetation and animal (a) &z &Y gl ve 09 yarl -
matter T "ﬂﬂ'!‘{ﬁ'
(b) Automobiles G &f ;
(¢) Ol Refineries (©) 79 Rem
(d) Thermal Power Plants (d) M farge wHam
45. Tulsi plant has medicinal values due to the 45 Foddl & 1 37 afyeiyg Aeoy A=t o5
presence of the following - IRl & o & —
(@) Inorganic Acid (a) swEfE s
?I'l (];)hrgmul‘. Acid (b) FHEME are
c) nols and Flavonoids (©) fFe vg qﬁm
(d)  Lithium Bicarbonate k5 .
) fafem aEsEiye
(RRST-01.4) —
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46. Which of the following eatables is the best
source of all the essential amino acids?
(a) Banana
(b) Pulses
(c) Egg
(d) Fish
47. ‘Jhini Jhini Bini Chadariya,” a famous Novel
of his times is written by -
(a) Kashi Nath Singh
(b) Neerja Jadhav
(c) Abdul Bismillah
(d) Ajay Mishra
48. Which of the following is not correctly
matched?
(a) Mahila Samridhi Yojana - 1993
(b) Women Self-Empowerment Plan -
1998
(¢c) Women Empire Plan - 1989
(d) National Posahar Mission Plan -
2003
49. Maich hist-T with list-1T and select the correct
answer using the code given below —
List-1 List-11
(Name of the Act in Year
India)
(A) Forest Conservation (1)
' Act
(B) The Environmental (2)
Protection Act
The Air (Prevention (3)
and Control of
Pollution) Act
(D) The Water Pollution (4)
Control Act
Code -

1980
1986

1 (C) 1981

1974

O
(@) 3 1 4
2
2

e) 4 3
d) 1 2 3
. The Six Points Formula proposal of India for
South Asian Region was presented by which
Prime Minister of India?
(@) Manmohan Singh
()  Atal Bihari Vajpayee
(¢) Narendra Modi
(@) Inder Kumar Gujral

EL R R

47.

49.

50.

aﬂ ol

9Y &1 gffd Sury
S L SR
(a) el AT

(b) RS S

(c) 3rgal faRwcones
(d) arwra s
Frafefae # & 1 ar 4d hfer =& &

(a) R wyfE Ao — 1993
(b) wfeen wawfda A — 1998
(c) #fee |y T — 1989
(d) ST UmER A s — 2003

A1 B -1 | FAfera Sifoe a2
fT T FHe & WA TP §El IR BT 9

FfoTT —

a1 11
(s # sftfE 3 (&)
M )
(A) o weEw ARETE (1) 1980
(B) wAfaRm WREV (2) 1986
(C) @G (mgEvr Faror (3) 1981
vq =) sfefem
(D) wie HgEU fAg=er 4) 1974
st
@_
A B & D
@ 3 1 4 2
(h) 1 4 2 3
() 4 3 2 jie
@ 1 2 3 4
afr o &5 @ fog wRa &1 o g

qearE, WIRd @ R SerEAl G AR
T o7

(a) WAAEA RE

) aree faErd o

() o A

(d) ¥W AR PORTE




fre SIBE B Sy

e T @

‘ f the Indian 51. i {-‘-]'H'?n?ﬁ il Tl CEly ?ﬂ e
51. Under which article © ake laws 3 @ 9l o] 27
Constitution, the Parliament .L.‘illl'l i G T ﬁi’ﬂ ¢ fagg @ .
on State List subject for gving ST . -:,qﬁiﬁfb’ﬂ _ n83
international agreements? (a) Wy
(a) Article —252 () FIDE — =
(b) Article —249 © 34‘11:[&?{ — 230
(c) Article—250 (d) ar-jf}ffa_{ — 253 7 g ‘
52. n the Preamble of the Indian Constitulion, =58 oy cor ey ST =1d HETT B G Taw
which Justice is provided to all its citizens? & T 87 :
(a) Social, Religions and Political ) i ififes T TR -
(b) Social, Economic and Cultural (b) I, anfofe @ AivplD
(¢) Social, Political and Cultural (c) A D, STafs d quﬁﬁﬁ
{d) Social, Economic and Political (d) GIEED anfeie @ EIG1‘ GIGED
Fthe followi 53, 1993 # PrefarEd 7 W HIdl A A6
53. In 1993, which of the following language was 3. £ Jﬁ 61 o T
not included in the Eighth Schedule? st 7 Wl e :
2. N (a) AR
(a) Maithili it
(b) Santhali (b) ¥l =,
(c) Bodo (c) Til"‘l?;,')l =
(d) Dogri (d) SrFH o, _
54, Which of the following Indian President also  54. Frafafeg § & @9 ¥ ARAE IgUfd d@
served as Speaker of Lok Sabha? AT e A ¥8 27
{a) Fakhruddin Ali Ahmad (a) HEEL 3T IEHG
(b) Dr. Shankar Dayal Sharma (b) = sie T
(c) Dr. Zakir Husain (¢) =i wnfe E"q:f
{d) Neelam Sanjiva Reddy (d) “rem Golg Yed
55. Which of the following is not comectly 55, Fr=ifeifas 3 &% 919 w8 yAfer T8 87
matched? =
(a) Primary Energy — Tidal Power (a) UG Tt — wardta it
(b) Commercial Energy — Oil and Gas § :
(c) Non-Commercial Energy — Animal () affigs s — g &ix 19
o (©)  R-affues ot — st @ N
(d) Non-Conventional Energy — Solar )
Energy @) R—ynufts Ful — iR ol
5&. ‘}‘hﬂ mﬂ:Enlﬂgu {Jr wl]j‘k I ree jn u”ul Sﬁl i i m _rth H T = ﬁ aﬂzi aua .hT
population of Uttar Pradesh - oferere & — = A
(n) 185% () 18
(b) 23.7% ) 5%
(€) 302% (b) 23.7%
) 31.2% () 302 %
— (d) 31.2%
{RRST-01-4) =
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Which of the

following is not one of (he

57, 57, ﬁﬁﬁ#ﬁiﬂﬁﬁ?ﬁ?ﬁmmmﬁa‘;w
twelve "HRIDAY" cities chosen for holistic e & fam T Y awE B (HRIDAY)
development of heritage cities? KU I ) J

(a) Agra (a) M-
(b) Gaya (b) a1
(¢) Pun €) T&
(d) Warangal (d) ITE
58. Which of the following is not mentioned in S8, WRE & oy IS, PR 7 aiftroy fasy
gh"_i;i:l;}'lﬂ’: :’T;J}JI;QE, Trade and Commerce 2020° 1 B = # fara T T faan
ill 20207 of India?
(a)  Essential Commodities T 87 ;
(b) Contract Farming (@) 3maead RIY
(¢)  Minimum Support Price (b) <ifdeT Py
(d) 3?:::::::::::":\ Produce  Market (¢) R el g _
' (d) B Sere fus wffe
3. Traditional Folk-drama “Bhand-Pather” is 59. uRyfRts diF—ed  His—qr fore
related to which State/Union Termitories? T/ dw I Hew W Hafg 27
(@) Jammu and Kashmir (a) SH-FHHIR
(b) Gujarat (b) oI
{c) Unar Pradesh (c) 9T Ueg
(d) Assam (d) 3m9H
8. “Shabri Sankalp Abhiyan” is associated with-  60. “srqdl wepey A T Haer & —
(a) To help those poor people who are (CY I 1 0 B ) e g ey
below the poverty line HETAT &R0
(b) Empowerment of Women (b) Rl @1 Fafdrmer
(©) A scheme for self help groups (c) ¥4 HEHA FHET & fU Ay -
(d) National Nutrition Mission (d) IR O i
8. Match list-I with list-IT and select the correct 61, -1 @1 gA-11 9 et FRG va ey
answer using the code given below the lists - m T FFUT D T BF T
List-1 List-Il
_{Fn-lﬁ_gng: (Occasion of Singing) @% m%g@
(A) Chaiti (J) Sanskar geel . PO s
(B) Kajari (2) Braj Lokgeet — 2) T T S
(C)  Rasia (3) Vivah and Seasonal ®) il L
(€ R 3) fae ve A e
pee (D) WEC () e
D) Sohar  (4) Seasonal geet e
Cade - . A RS D
A B c b (w) 4 i 2 I -
a) 4 3 2 | @ 3 4 I 9
b) 3 4 1 2 © | 2 3 4
e) 2 g ; @ 2 i 4 3
mﬂ'«unu Page 15 of 32
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62. Consider the following Govermors ﬂiﬂlcn: in
Bank of India and amange
chronological order-
(I Dr. C. Rangarajan

(1) Dr. 1. G. Patel

(11I)  Dr. D. Subbarao

(IV)  Dr. Manmohan Singh _
SL:]::&:I correct answer using the code given
below-

Code -

(@) (IV), (I, (111} and (1)
(b) (ILy, (IV), (I) and (I1T)
(c) (IV), (I}, (1T} and (1LL)
(d) (1D, (1), (IV) and (I1I)

63. In India, businesses with an investment upto
T 1 Crore and turnover upto 5 Crore are
known as -

(a) Tiny Enterprise
(b) Small Enterprise
(¢} Micro Enterprise
(d) Medium Enterprise
64. Which of the following is not correctly
matched?
(a) Companies Act— 2013
(b} Indian Contact Act— 1870
(€) Partnership Act— 1932
(d) Sale of Goods Act— 1930
65. The largest source of National Income in
India is -
() Service Sector
(b) Agriculture Sector
(c) Industrial Sector
(d) Trade Sector
66. Considerthe following events and arange these
in chronological order —
(I Launching of Community
Development Programme (CDP )
()  Recommendation of Democratic

Decentralization

() Initiation of Key Village Scheme
(KVS)

(IV) Setting uwp of Distriet  Rural

Development Agency (DRDA) m
district level

S:I!zcl Correct answer from the code given
w.-

W) (), (1, (1), (1v)

(b) (), (1), (i), (V)

ic) (U1, (1), (11}, (1Y)

62.

63.

6f.

aﬂ'ﬁ’ E!E! . 1|
CRE =, .
) 20 Qﬂ_r?ﬂ?ﬁﬁ
ap S S S 0ed
am i 1. AR
f e e

%VEQW@WHWW' W8 U o
o+ BT —

Eh-e = .

(@) (V). (I, (D 3T (D)=
(b) (1D, V), (1) 312 (111)

() (IV), (D). (ID) I (III)

@) (D), (1, (IV) 3 (I1D) \ ‘
a3 o eraari &1 [T 1 3R T
qeT RGN S PRIS T B, I8 Gl S
2
(a) BT IeH
(b) g FEA
() 9&A 9=
(d) 7=H 354 ‘ 5
F=ifeifaa & & &9 Her yhford el 87

(a) AT sEfHaH — 2013

(b) i HfdEr A — 1870

(¢) VRN T — 1932

(d) &% fama i — 1930 _
"_gﬁﬁ P U speferaver w7 waw g2 w0

(a) ¥arag

(b) Y ez,

(c) shenfirs &

(d) @R &

aire HEART (@) gr figr @

o Saierg aafam —
RS R HHH B EIT

(I i)

) il
(I =y %'aa;: mﬂ*“*"“ f;;fr Wﬂwﬁm
(1)

W B ww e g
ST

9 faa ;—;h ) B e were v we

e W M S o w9

@) (D, (I, (1, (IV})
(b) (I, (by, (1, (Iv)y

B av), am, iy, (1 E;]) (L), (1), (1), (1vy
M (WJ.[IHJ.{II}.(]) ol
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g7. Which of the following state started E.
Card Service in first time?

ration

(a) Gujarat
(b) Maharashtra
(¢) Uttar Pradesh
(d) Delhi
g8, Which of the following statement is not 68,
correct? i
(a)  Email - refers to Electronic mail

(b) WWW - refers to World Wide Web

(¢) CPU - refers to Control Processing
Unit

(d) ALU - refers to Arithmetic Logic
Unit

69. A farmer. which has land holding between 1

67.

Fr=iferaa o)

qF .
HAYH Uy ﬁh’r’q A ST
(a) RG]
(b) HER -
() TN g
(d) faeeh

Freififaa % 2 @ w1 qercrer

(@ % V- o
el B

(b) S syTa— v 428 99 @

FLA GRG G

(© WY - dem naR qfe
Yefifd g & - :

(d) Uy — afiifes offre afve 5
et wvar 2

el Sdf 87
Hel 1 wefifs

69. % fhum, v o | 9 2 2eeaw a9 s
to 2 hectare is known as - &, ST e B -
(@) Marginal Farmer (a) M P -
(b) Big Farmer (b) 4g1 Ppud
(¢) Medium Farmer (c) HeUH gy
(d) Small Farmer (d) g FyeE
M. With reference to crop rotation, which of the 70, &e #ih o et H, Freifofaa 4 & a5
following statement is/are correct? T T WE 8 /&7
(1) Deep rooted crops should be (1) &Nl el aell Bl & 9% S
followed by the same type of crop. e 3 _ij & 1l ey l. bt}
(2)  Legume must be followed by a non- CHELE I AL faT el areht
| thilel o+l =ifau |
~EDe. : . 49 BT v FE B 9N S w9 9w
Select the correct answer using the code given g —
below -
Code - LS
(a) @dd |
lﬁ) Oﬂl}" 1 el
(h) @del 2
(b)  Only 2 (c) 18R 28~
(¢) Both1and?2 @ 12
{d) Neither 1 nor 2 : 2 et
Mo i “I" T YET &7
15 being built? (a) HEHETIR
(@)  Ahmednagar (b) Hx
[h.:' Sl.lm u.] T
:c] Vudndam “” “Tﬁ]ﬁi
d) Nasik g H W e A gda 9 waf @2
Which of the following is related to Brent 72, fifeil
Index? @ e OF @ e
@)  Crude oil prices (b) R W e @ ﬂﬂlrt’r_
(b)  Copper future prices ) A il wfey ot aiad
(©)  Gold future prices (d) fafitn a3 ypowi
IRegry page 17 of 32
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73.  “Kashi Lalima is the variety of which of the Ve qoifer &7
following crops? (a) TR ,
(a) Carrot (h) el
(b} Okra/Lady finger (¢) @i
{c) Onion (d) ey
(d) Tomato : e aw w<ar # dd @ HE @ i
74.  Which of the following nutrient is most useful 74. e ST #
for enhancing oil content in mustard crop? (a) dicerdH
(a) Calcium (b) TPV
(b) Sulphur (© =T
i @ o
75. Headquarters of International Potato Centre 75, RIS Y, T (efsMel) T o
(CIP) 1s situated 1n - frerr & —
.hll Lima, Peru @ S
(b) Shimla, India (b) m R
(c) Dakar, Senegal (€) IR, T
(d} Dublin, Ireland (d) saier, SRS
76. In which of the following states, the area 76. [ vl # 91 @19 eyg—da fhaE & E}_W#
under Tube-well irngation is the highest? welen &7
(a) Uttar Pradesh (a) ST R~ 8
(b) Bihar (b) faE™
{e) Punjab (e) oI
(d) Harvana (d) s
77. Which of the following is not comectly 77. FriidfEm & ¥ wrwn ve wd) gafer 78
matched? &7
Animal - Breed ) s
(a) Buffalo - Bhadawari (a) g _ ﬂ’;'ﬁf[
(b) Cow - Sindhi (h) B
{¢) Goat - Jamunapari (c) & iy
(d) Sheep - Tharparkar L) wg : Wammm
T8, Niger crops is a oil seed crop. What is the 78, ST Mﬁ—m T T T A 4 2 82
content of oil in its seeds? e Z
(a) 7-16% Tﬁl::ﬂﬁwwmma
(b) 17-26% () 17-26%
€ 27-36% (c) 27-36%
Pl @) 37-479%
S
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79.  The practice of gootee in plants is used for the 79,
purpose of -
(a) Control of insects
(b) For vegetative propagation
(¢) Germination of seeds
(d) Weed control

§0. Match List-I with List-Il and select the 80,

correct answer using the code given below —

List-1 List-11
(Fruit) {Largest Producer)
(A) Mango (1) Jammu and
Kashmir
(B) Litchi (2) Kerala
(C) Coconut (3) Bihar
(D) Apple (4) Uttar Pradesh
Code -
A B C D
(a) 4 3 1 2
(b) 1 2 3 4
c) 4 3 2 1
(d) 1 2 4 3

8L Which of the following statement/s is/are true 81,

for Uttar Pradesh?
(1) is the largest hub of sugarcane
production in India.
(2) is the largest milk producing state in
India.
(3) is the highest producer of rice in
India.

(a) Only (1) is correct
(b) (2)and (3) are correct
(e} (1), (2) and (3) are correct
(d) Only (1) and (2) are correct
8 Which of the following is not someclly 82

A T e P

¥ Py e @2 i
(a) ﬂﬂi’la?ﬁ'ﬂ‘—':m%g

(b)  AFTIAE HHRY & fayo

(c) '-h\_rﬁﬂ%aﬁgwég

(@) BRUTIR & Frasmr i

AL BT L9 R A e
foy Ty T @ W IW P e v -

-1 A1
(W) (f1¥ w31 SrEs)
(A) @A (1) S o ¥R
(B) o=t (2) e
(€C) TRFa (3) fIEw
(D) ¥4 (4) 9T "e
ﬂE‘.
A B Gt D
(a) 4 3 | 2
(b) 1 2 3 4
{c) 4 3 2 JiE=
d 1 2 4 3
TR WeW @ fog FroefaiaT et o @ @ie
| /W HUT el BB

(1) ¥RG 5 T IS & Ga9 T 29
2l

(2) MG @7 S=TH GE IAIEE 9 & |

(3) NG H WEA FT HAY q9 SEH
2l

(a) fw (1) wer @

(b) (28 (3) wé &

© (1) (23R 3) & &

(@ fad (1) she (2) wét & -
Fiferferr % @ T WA o 22

Malched? (vmr) ()
(Language) (Country) @ s I

(@)  Danish Denmark ®) Havds .
2 b B
€)  Mandarin e d)  WETHI uigets
(d) Bahasa Thuiland ‘

\-.._-_‘_-__
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83.

y elect the 83 ;
Match List-1 with List-Il ”n.d ;el:;:;w : fey i
correct answer using the code give AU ﬁ;ﬂr 5 k-1l
(Soil} (State) (A) widE (1)
(A) Alluvial (1) Rajasthan (B) TR (2) SR AT
(B) Black  (2) Uttar Pradesh (©) @) HETY ?r&w
© Red (3) Maharashtra (D) FeRUTE  (4) ST
(D) Desert  (4) AndraPradesh e -
D
Code - ) S LA e
@ 1 4 3 2 I A i L]
e e A
(), 4 Ml eri]l s
: d 3 4 2 I x
@ Shmpdnied’ ol : & 2011 & SR, STR Fa
' e Tsi ST 2
B4.  Aspercensus 2011 of India, whichoneofthe 84, IR P S
following city of Uttar Pradesh 15 ‘not a & fyeferfias I8 # 31 B A1 I
‘Million City'? ey TH 87
(a) Agm (a) SITRT
(b) Prayagaraj (b) WHTTER
(c) Meemt ic) NG
(d) Moradabad (ﬂ:l 'ﬁq‘rﬂ'ﬁ"ﬁ .

85. India Urban Observatory is situated at which 85, NG ¥1&% SeeIal (ﬁﬂ?:lé?ﬁ) Frefarftaa A
one of the following place? W &y e uw fem 27
(a) Dehradun (a) ?,‘EQ'I?I’

(b} New Delhi (b) :EF it
{e) Chandigarh (¢) =&
(d) Varanasi :
(d) TR _

86.  As per the SDG India Index and Dashboard  86. %R HfY smmr g ysifg g R I
2020-21 published by the NITI Aayog of sfear g8 g dvErd 202 & e
India, which one of the following state was fPrfafen & 9 s _\c“u ??2;[2 Iﬁﬁ Cﬂﬁmﬁﬂﬁ
nol among the top ten stales in their et 9 st :
performance regardi Sustai ] I weei # o =w Il
Development Gna]s’?m 4 e W Tl er?

(a) Punjab (a) ToE
(b) Sikkim (b) e .
(e)  Uttarakhand AT S
o (d) Goa E:;]) T
- Dhoopgarh Peak is situated in whi
following National Pn:::';- 3 Which O the |87,): ey whdy et waEr 4 @
(®)  Satpura National Park Rem &2
() Kanha Nations) Park (8) WIS WSy ey
i‘;} ::‘“h“wh National Park (b) e s s
adhay National Pk (©)  afEETE sy ger
R_
(RRST-01-A) () wea wrhy ger
e

Page 20 of 32

=/



g8 Which of the following s considered 3
"Hﬂtspﬂl" [‘lr bl{}di\“ﬂfﬁit}r i_n [l'ldia?

Aravalli Hills
Western Ghats
Eastern Ghats
Indo-Gangetic Plains

(a)
(b)
(c)
(d)

9. Asperthe 2011 census, the correct ascending  89.

order of the following states in terms of
Scheduled Tribes population is -

(a) Arunachal Pradesh, Meghalaya,
Nagaland, Mizoram

(b) Meghalaya, Arunachal Pradesh,
Nagaland, Mizoram

() Arunachal  Pradesh, Nagaland,
Meghalaya, Mizoram

(d) Armunachal  Pradesh, Mizoram,

Nagaland, Meghalaya
%. Which of the following Union Teritory of
India has the lowest sex ratio as per census
20117
(@)
(b)

90,

Chandigarh

Daman and Diu

{c) Andaman and Nicobar Islands

(d) Lakshadweep

Which of the following state of India reported

lowest percent of urban population, as per
2011 census?

. 91,

88.

RS P o % farg
EIC RIS HAT Siferr &7
(@)  SRIFA TRifwi

(b) e e -

(¢) ydi ==

(d) R e
2011 31 ST % SR, IR oy

U Sta—fRifderar

(c) ORI HIW, AFNGYS, HumeE
fraim

(d) 3UEe w29, fAgRE Armevs
Y v

2011 B FTIO H AgER, Feferfiaa d |
WG @ bW @ whea wew 4 ~aw
ferTeaTe 9T e 27

(a) TSI

(b) @H7 U4 dg

(c) siEAR-FaER §u TE

(d) <EEm

SO 2011 & IGER, ARG # Freetead
oAt H | DI W I A G FH FIIHI
@7 i o fasan?

(a) Himachal Pradesh (a) fEAMES H=T
(b) Bihar (b) fAER
(¢© Odisha (c) 3
(d) Rajasthan (d) eI
The Monoeclimax Theory was propounded 92. w (et =) R 1 R
(@) F.E. Clements (@) %Té g
(b) C.C. Park (h) ﬁrlﬁ-aﬂﬂ
fe) D.V. Ager {:) W":‘)’ =
d) SJ. Gould " qﬁ?;ﬁmm e R T
The Disaster Management Act was passed by : &l —
the Parliament of India in - (@) 2001 #
| @) 200] (h) 20057 <
(b) 2005 (© 20099
©) 2009 @) 2013 %
@ 2013
%'_ page 21 of 32
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94. Which of the following cities was _q::clrum!

winner in “Social Aspect Catcgory of .ﬂlt
India Smart Cities Awards 2020, which were
declared in June 20217

(a) Tirupati

(b) Bhopal

{e) Jaipur

(d) Waranasi

95.  Which of the following cities in India has the
lowest percentage of slum population as per
2011 census?
(a) Ahmedabad
(b) Jaipur
(¢} Lucknow
(d) Bengaluru
96. Which of the following state in India has
maximum number of tribal districts as per
“India State of Forest Report 201 9"
{(a) Nagaland
(b) Meghalaya
(c) Mizoram
{d) Manipur
97. Which among the following states was
awarded as the best training state for “Van
Dhan Yojana” by the Government of India in
August 20217
{a) Nagaland
{b) Mizoram
{e) Meghalaya
(d) Madhya Pradesh
98.  Which of the following statement/s isfare
correct with reference to Indian Railways?
(1) Achieving 100 percent
electrification by 2023,
(2) A net zero carbon emission network
by 2030,
Select the correct nswer
below -
Code -
() Only (1)
(b)  Only (2)
(€} Both (1) and (2)
(d) Neither (1) nor (2)

using the code given

RETOLA @ T3 1) 7@ @
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94.

95,

98.

3 frg WY BT 92021 F
e fyel smEe 2020
srofy 4 farran ety f&ar oy

Erfafad A
it gedl

HAIRIE TECL |
ofT?

(@) foeufd

(b) T

(€) AR

{d' ey .
Prefeag FRdtg TR AR aRaE o

afverd 2011 &1 SEATUET @ SR, HAH 5
T E —

(a) SEHCMEIR

(b) AL |

(c) TETS I|

@ ge :
|

‘v @ Rufy Ruid 2019° @ 3ER.
Preifean & & forw wod H wiwig fordl

P A= A AEE 27 |
(a) TICITS :
(b) #HETY
(¢) FuiE

(d) =fenge

frfafad § & fm wow 31 e 2021
XY ¥WRER BN A o A 3 [y
ﬁj’:g AT IS & Wy § w6
]

(a) =TCive

(b) Fsiem .
(C)  HEwEy

(d) weyg gasr |

R X b e 3 Pl e

(1) 2023 7% wrg—ufier ferd) -
HTT =T |

(2) 2{]3{!%1{.@1%; i wl

ﬁbﬁa T |
Wﬁqﬁﬁwj”@wmmmmﬂ I 4

T - |
(@) @ (1) |I
(b) T (2) |
© (R ) 2 i

\




Cyclone “Tauktae” wag fo

s rmed in which 99, YA ) i ;
(@ Bay of Bengal ST G o IPM @ few wrw @
(b) Indian Ocean (@) qM Y ) -
(¢) Caspian Sea (b) . f&= weremre
(d) Arabian Sea (©) DRI Hy
100, Mitali EXpress runs between hi SR,
A which two 100, fareh v R =Y wERl @ A e 7
(a) Dhaka - Guwahatj (@) @7 — T
(b) Dhaka - Chattgaon (b) @ ~ ety
() Dhaka - Kolkata (c) T — HledmE
(d) Dhaka - New Jalpaiguri d) @@ - ¥ STerrd
101. The main objective of “Sangam Yojana"is- 101, “H 4SET @ L] a%m -
(a) To increase welfare of handicapped
person (a) R @ Feamor gfe v
(b) To link rivers mutually (b) =feat o war SrEE
(¢) To make rivers pollution free (c) Al HT wguvr qaw He
(d) To enhance national integrity (d) ST UHar B q@Er 27
102. Who is the author of the book “Sanskriti Ke 102. =

P @& AR AR YIS & oEdh B
Char Adhyay™? 04

(@) Mahavir Prasad Dwivedi (a) WETER F%-'IT;' ferert
(b) Ramdhari Singh Dinkar (b) IAEH CRL
(€) Maithili Sharan Gupt (c) HPrefeRer I

(d) OITIhY HHE

(d) Jaishankar Prasad

3. A Pan-India Campaign ‘Ek Pahal’ launched 103. 17 famr, 2021 & 4% fha T sfeEw
on September 17, 2021 was related to - MR AHgE TE UEE HEfT o1 —
(a) Justice delivery at doorstep (a) O 9D ER A
{b) Vaccination (b) SHEIT H
(e) Swachh Bharat, Swasth Bharat (¢) W 9RC, W¥ HRT 9
(d) Use of Green Energy @ =Ra Tﬁﬁﬂ @ sm‘n'r Gl
14 ‘Djibouti’ Code of Conduct is related to - 104. Rrady s Hiew wafT & -

(a)
(b)

Conservation of Congo basin
International Maritime grouping

(a) IIT FIOA BT HRET
(b) s =Pl B Rvg SRl wE

against piracy
(€)  Charter of ethics () Afernan @1 ‘ﬁ"‘I’” RE| |
(d) Principles for conducting nuclear (d) U] T e R
e Syl fve <Te BRI
% Who publishes Global Climate Risk Index 105. Wﬁ;‘jmrgmm ﬁ?w
? 5
(@) United  Nations  Environment ::; kGl W ey A
Pro .
®)  Germanwatch () fava siem g e
t:] World Meteorological Organisation @) fe dw
)

World Bank




F-FI9 ¥ S¥

106, FrferEm ¥ S

106. Which of the countries is signatory to the FwEidr (Abraham Accord) @ EXIIEE] &
Abraham Accord? (a) ORI, q:m-eﬁ 3{;13 A, W@qmﬂ
{a) Israel, Saudi Amhia,b'g_}-‘pl. .Tcsri:lun (h) SR, Y gl '
(b) Tsrael, United Arab Emirates, Egypt eI, EﬁmT
Bahrain, Libya Ay (¢) IZuisd, HYdd aRd ST, TR
(c) :r;cl,_ United Amb Enmurates, (d) ﬁm—?ga qsr, AT
ahrain _ _ qifET :
(d) Israel, Sudan. Afghanistan, Pakistan gov ey femd FHifRer 7 e &3 @ fom

107. Which Government enterprises signed MOU 107. 2021 # fhd TREN 9elH 7 el
in August 2021 to invest in Uttar Pradesh IR | LI:[}‘;"'\]‘W‘H; fpu? -
Detence Corridor? T -‘ o of -ﬁqﬁ?F"E

(a) WRd e gaE i

(a) Bharat Earth Movers Limited : S
(b) Bharat Dynamics Limited (b) T ST ferfies

(c) Hindustan Copper Limited (e) fe 3 PIRY ﬁ'ﬁ@
(d) Mishra Dhatu Nigam Limited (d) A5 |1q ferm %{m
108. Which one of the following book by former 108, JRAAE. B H_:d e, fame w ED' [
RBI Governor, Bimal Jalan was published in frafafad & 4 @1 ¥ g% el 2021 :
Tuly, 20217 FHINE g8 AP
(a) The Fowre of India ) BRI S%MF
(b) India’s Politics (b) sfeum difcieas
(¢) Emerging India (c) wmfoim Ffear~
(d) The India Story (d) = sfsa =N :
109. Consider the following - 109. frsiforlas ov fdar @ifsn — :
(1) Kalaripayattu (1) eNmTFee |
{(2) Thang-Ta (2) =&a—ar '
(3) Mallakhamba (3) Hole- |
(4) Gatka (4) e |
Which of the above game/s has been included Etrﬂ_"ﬁ q ¥ 7 wer @ e g 3 |
in “Khelo India Youth Games"? =1 Ao b T 82 :
Select the correct answer using the code given At fag RE B WART B 98] IwR Sl ad0 I
below - HifeTy — |
Code - DE =
(a) Only (1) and (2) (8) Faet (1) 3R (2) |
(b)  Only (2), (3) and (4) (b) BT (2), (3) MR (4) ‘
{c)  Only (1), (3) and (4) (€) @ad (1), (3) 3 (4)
" l(c:}l (1), (2), (3) and (4) d) (1),(2), (3) 3% {4)
- laly launched its first “Fo T 5 i ¢ e “hE
India in June 2021 ar hi :’d?d:g" i 'm Hhad mzl’ 1 Sl et e %‘?
at which of the following W e Frfaiea § 9 Ry w o 9o
place? farar?
(a) Jaipur
by an?':.ldhur ) o T
© Ludbiung (b) vy
@) Kochi ©  grem
Wsrory o st
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e ‘DAVINCI+" and "VERITAS’
mission announced by NASA
(a) Moon
(b)
(c)
(d)
2. East Uttar Pradesh first Cable Car Service has
started in which of the follow
(a) Etawah
(b) Maharajganj
(c) Jaunpur
(d) Mirzapur
‘Geographical Indication Tag" for black
pottery is associated with which of the
following place in Uttar Pradesh?

= tWo new
are related o -

Venus
Mars
Jupiter

ing district?

113

111.

112,

‘DAVINCI+ airy ‘VERITAS' -
BT a7 v Mo, i =
(a) e |
b) TFH-

() #Hire

(d) Fewfy

Tl S wew # umey
Frefefas % 9 fre sz
(a) semEr

(b) HERET

(c) mﬂ?ﬁ

(d) Py
wier diet & fry Rrvnfbes s o
SR Wey H frefefad & & fbw wm @
wafte 27

- T B

G
H R gd?

(a) Najibabad (a) “TSfiarare
(b) Khurja (b) il
{c) Nizamabad (¢) Fremmme
(d) Kasgan (d) T
14, Which of the following river does not flow 114, f=fafag ¥ § o9 @ 7¢ 99% ¥89 vwg
through the state of Uttar Pradesh? i yeIfed FE ardl 27
{a) Son River (@) I
(b) Hindon River () fRvs
() Gandak River :;J; Eﬁ;”
(d) Sharda River LI ‘ :
115, Which one of the following districts of Uttar 115, f=ifeiRas # # 'G?F.' HEST & ‘a‘ﬁ?ﬁ:‘l G
Pradesh does not share border with Nepal? AT @ T I Wi Al B &
(a) Balarampur (a) Wg
(®) Shravasti (b)
lc)  Kushinagar © % o
{d) TLakhimpur Kheri _[‘f] AT S e LU S
115, in_d,oncsia does not share its land hnl{nl.*_-gr}' llﬁ‘l m 481 @ 27
with which one of the following countres: @) o
(a) Brunei (b) foER-eR
(b) Timor-Leste @
(€) Malaysia : (d) g L it
(d) Papua New Guinea ¥ ¥ M e nREfa 8y 9E
bl Which of the following is not a part of 117 a7 T e &7
Polynesia group of Islands? @ B
(a) Tonga (b) @A
b)  Tuvalu (¢) nfe
€)  Tahiti (d) dtf=ar
) Tinian
liim. 01 page 25 of 32




ﬁﬁﬁﬁﬁﬂﬁ?ﬁaﬂmi@

i ies is the 118 Ffel iﬂéwi | &
118. Which of the following cuunl.m: . ST
largest producer of fish in the world? (a) ST
(a) Japan ®) b
{b) China ©
0 vk O A & a3
I * ﬁﬁ
119. Which of the following schemes are related to 119 R
the skill development? {:T} BIe

(1) STRIDE

(2) =9
(2) STRIVE (3) HbA
(3) SANKALP @) |
(4) SHREYAS . oy for MU we A ¥ FE IOX BT TG
Select the correct answer using the code given AT —
below - (@) Paa (1) AT (2)
(@)F(E0e () Oy (b) Had (3) T (4)
W Sl Wy () BT (2),(3) 7T (4)
(c) (2).(3)and (4) only 5
(d) (1), (2), (3) and (4) only (d) @ad (1), (2),(3) ?T:l%(éra PO
120. Which of the following Island is known as 120. ﬁ’ﬁ?ﬁiﬁ 39 fz’__;q &1
“The Land of Promise™? WY H ST W &
(a) Cuba (a) = |
(b} Java (h) W\ ]
(c) Sulawesi (c) W
(d) Mindanao (d) fHeFmRET
121.  Which of the following pair is not correctly 121, fr=ifafaa 3 & @4 &1 g5 w8 gife 78
matched? 27
(Country) (Capital) @m (YToTErTe)
(a) Antigua and -  SaintJohn's ;
Babada (@) TRmm sk - ¥ wtw
O S g oy SR
ll['li Blai vador - an Salvador (c) WW S Xy
o \:_,hit !m::rn;s" - Nassan (d) TEFE . ]
2 < ol the following pairs is not correctly 122, fr=fafag BitiEn) ?
matched? Y -Tq,i H ¥ @l H‘é’f g
(Crops) (Country) (Pre) Gt) :
(a) Rubber - Thailand (a) Yaa - yrddE .
(b) - Coffee - Mangolia (b) e - iR
“‘.'j DII\-’E - Spﬁin (f] ﬂ?[q _ _'FfFT
(d) Sugarcane - Bra) (d) =y Y S
123, ;nmwh:quf the following countries 99 123, Frefarfay 4 W fow dw A s g &9
“nt of its total energy requirement is
by Hydro-Power? ;‘_ﬂ'ﬂmﬂm T 99 it Srerfaega § W 81
(@) New Zealand :
Switzer] ()  =rofiefs
(3! Aot (b) Raeords
@) Brag) (©) =id
RRSTOLA) () arie
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124, Which of the following s

not correct] Freiferfgs
matched? y. 124, c 49 3 T 95 Hfer T &2
(State) (Hot Spri p
- OPrings) (¥r) (i a3
(a) Himanchal - Manikaray (
a) fEmEm
Pradesh ) SOV - Hfimef
: h i
(h) Odisha Taptapani (b)  sifean - )
(¢) Maharashtra - Vajreshwari () Hemms - T
(d) Gujarat - Narayani (d) ToRmE - Rt ~
125. Which of the fullr?wing_lmn and Steel Plantis 125, Fr=forfa & % 99 ar te—zwm s =8
| not located on a river side? e W Reg 78 &2
(a) Bhilai (a) Pers
(b) Bokaro (b) 4T
(¢) Jamshedpur () RIS
(d) Bhadravau (d) wErEdr
126. The “Tamaria” Tribes are found in which of 126, ‘TWRaT SHwIf ¥NG @ Frefefan fbe =1
the following state of India? U e 87
(a) West Bengal (a) Ul qa
(b) Rajasthan (h) AR
(c) Jharkhand (c) FNES -
(d) Madhya Pradesh (d) 7= FE
127 Which of the following is the largest Fresh 127. f=ifeifam TW T NG B a9 a9 HS
Water Lake of India? T 1 el &2
(a) Kolleru (@) BTG
(b) Waular (b) gelN
(c) Nalsarovar '::J E
(d)
(d) Sambhar
: A HH ?
128. Which one is odd among the following 128. ik T T I &
group? (a) <
[a] Tﬂk}'ﬂ l:h:l -ﬂ"a'q
(b) London () =R
(e) New York @
()  Beijing & ¥ A B A A P
199, Which one of the following js different from 129, RIS
the rest of the three? (a) fosm ~
(@)  Direction (by T
(b)  Compass (€)
(©)  Needle @) TP
@) Magnet
-‘--__h-‘-_‘__




130 d to ‘wire’ in the samc

‘Electricity’ is relate
way as ‘water’ is related (0-

(a) Jug

(b) River

{c) Bottle

(d) Pipe
In secret code message, ‘HOTEL' is coded as
300, What will be the code for ‘BORE" in the
same code?

(a) 60

(b) 160

(e) 140

(d) 40
How many Squares and Triangles are there in

131.

132.
the following figure?

(a)
(b)
(c)
(d)
Arrange

2 Squares and 16 Triangles
2 Squares and 14 Triangles
3 Squares and 16 Triangles
3 Squares and 18 Triangles
the following seasons in
Chronological order accounting to Hindu
Calendar ;
1) Autumn
(ii)  Summer
(iii)  Spring
(iv)  Rainy
Select the correct answer using the code given
below -
(a) (i), (iv), (i1i) and (i)
(b) (i), (i), (iv) and (i)
() (iv). i), (1) and (iii)
(d) (1), Giv), (ii) and (i)
How many letters of the English alphabet

(Qapim]s} appear same when looked at in a
mirror?

(a) o

ib) 10
€) 1]
)y 12

133,

134,

[RRST-01-A)

130.

131.

132,

133.

134,

Page EM

. forg PR TR Y A £, S
e &=
T

(b) Tl

(c) dIdd
e
UE A Dle ;
<9 g T el B,
&1 e a1 B¢

faed
.m:ﬁr
(a)

‘HOTEL® @1 300 &
&1 9! FE # ‘BORE’

(a) 60
(b) 160
(c) 140
(d) 40 -

frefafaa smpfa # feeA @ @0
fongr &7

(a)
(b)
(c)

2 9t 71 16 Frget
2 i aur 14 Brgs
3T o 16 e

(d) 3@t w18 B -

AT AN @rafer Hifou—

iy wmm -

(i) e

{iti)  FH -

(iv) aui

R BE o D R o

YT Bifome — S
(@) (i), Giv), Gii) st (j)

(b)  (iii), Gii), (iv) 3t (i) —

(e) (i), (ii), (i) afte (iii)

Fd) (i],{iv}.{inaﬁv{iii)
:ﬁiﬁﬁﬂlﬂ]%%ﬂﬁmﬁﬂ‘ﬁtﬁlﬁm
S W D W R gy
(a) 9

(b) 10 -

e 11

d) |2




{35. fmd r:m the missing mUmber in the folouws
1gUre - Wlng 1 »
s T 6w 3s, ﬁmﬁfﬁrdarfﬁfnzﬁmm
4 3 4 5 6
18 | 27 | 9 2
L_.(a) 4 | 27
(b) 5 (a) 4
@ @ 6
136. Choose the odd one out from (h . ;
@ RS [ fullﬂwlng 136, =l ﬁﬂ'ﬂ v &7 ﬂﬁq_
(h) RV3 (&) 15
(© EKS A
P ¢) E
O e : @ DG2
137. How ]T'Ml;y ‘:'i are Ehtl:e in the following 137, Fr=ifefted s # U0 fbee 3 &) foes
sequence? Which are neither preceded by 6 fF e T A6 8 3R 7 B SF qWEH 9
nor immediately followed by 97 14 = i
9.3,6,6,3,9.5,9,3,7,8,9.1,6,3.9,6.3.9 9,3,6,6,3,9.5.9,3.7,8.9,1,6,3,9, 6,3,9
(a) Four ! (@) =X
() Two (¢) =BI°
138, Which one of the following words cannot 138. fr=ifbd Wi # & o @ & W=
written from ‘TEACHERS' word? ‘TEACHERS' ¥ ¥ 7781 forar o wera 87
(a) REACH {(a) REACH
(b) CHEER (b) CHEER
() SEARCH E;l; g.E*?*RCH
(d) CHAIR HARR —
139. Arrange the following words according to 139. 4R Ry v wE B A=a & AN
dictionary, and find the word that comes on AReIT O] TAT I & BT WG DI,
ot e STl AEDI H S G A I S
Just second place in dictionary © ;
: (a) Conclusion =
ia) Conclusion (b) Concentrate +
(b) Concentrate {c) Confidence
(¢) Confidence (d) Count
(d) Count , 140. Fr=fafa s w9 8§ v e wen
140. In the following number series, & WIRIE b, SRR L
number is given- | 2,6, 16, 38, 84, 168, 368, 750
2,6, 16, 38, 84, 168, 368, 750 el e & —
The wrong number is- (a) 38
(a) 38 (b) 84
(b) 84 (c) 168"
(c) 168 (@ 750
(d) 750 o eaTTmememnnnnas
e T
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